Principles of Algebra
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WS 8A.1 - Writing Equations of Lines

1. Write the equation of a horizontal line that passes
through point (6, 2). )
All herizonta| lines have gqvafion
\ = constant. The constant is the vahe

of all y-roordinales on thy line. [y=2

2. Write the equation of a vertical line that passes
through point (6, 2). )
Allvertieal Lins have eguahion
X = ponStant. The consfaat is the valve

oF o\l x-coordneles o the [ine. [X =6

#3-6 — Write an equation in slope-intercept form for the line that contains the two points.

3. 3,4)and (-1,-2)

© Find slope : m =:’7.(?_’_‘% @ Find y-interegt: @ Wrte eauation:
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4, (7,2)and (—4,-2)

@ Find slope: m= Ya-N.
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5. (7,-7)and (—4,-3) .
@ Find slepe: m = Y2"Y, @ Find \l—m{?“((’f: @w"}e equation:
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6. (6,6)and (—2,-2)

® Find slope : M= o=, @F{“d y-intercept : @Wn‘\'z qup‘(’;o:\:
g =%, NEmMmx+b
= lx + O
- s (@:0)06) ¢
(6) ('2) 5 6:é+b oL \[:'X
m = l _Q_:__b
#7-9 — Write an equation in slope-intercept form for each graphed line.
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@ Find Slope: m=~1
® Find y-intereet: =0
® We.Ye eavation:

\=-%

@ Find slope: m= %2'
Q@ Find \-interept, b=-2
(@ Wrke ¢avation:

O Find slope : m= %
@ Find y-intereqt: b=

@w"h— favation: Y= %x +Y
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#10-11 — Write an equation in slope-intercept form for the line that contains the two points.

10. (3,4)and (3,-3)

@ Find slope: m= Y2
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TF a Wae hag undefined flopc thiq
s o verticel line, The cquum
of o vertical line is « =constant.
The Constant (s the valve of the

x-coordirales on the line,
(2,4) and (3,-3) x=3

11. (2,-5) and (10,-5)
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@ Find slope: m=
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TF a line has slope O, then it is
o horizontal hine, The equation of
a henzogtal ling is = Constant.
The Constaat i's the valve of the
\I"erdiM"eS on the line.

y=-5

(gl-é) ond (wl 2§>




